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�<D5>F>D ��%%& &>4>D �4<5>6 < 4<D5>F>D>4 �D5ED4<55=>-E5<<\E>5 L>>?5 
&4^4 �<><_ �<>>?<_ =4G<=<?< EG >><?4D4F<6=G 4=4?<7G >5D47>6=>7 
E<E<F5<4 �G74DE>5 < %D5<\5. �>6>D<?> E5 > =4G<=G <7D445 �>4<L^57 ??4=4 
D444 >5D47>6=> 64E?<F=5 GEF4=>65, ??4=<D4^G EFDGG=>7 GE46DL464^4 
4<D5>F>D4, =4EF46=<>4 < EFDGG=<E E4D44=<>4, >4> < > >D74=<74F<>=<<, 
>44D>6E><< < <4F5D<\4?=<< E?5F<D<G=>EF<<4 465 >5D47>6=5 GEF4=>65. 
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�D4_5^5 4=56=<E 4>F<6=>EF< >E>55 744G65=5 74 >D74=<74F<\G ?D4>F<G=5 

=4EF465 ?4DF=5DE>5 L>>?5, D47<5=4 <=D>D<4F<\4 < >><?4D4F<6=4 4=4?<74 

?>44F4>4. '?>7=464^5 E4 ??4=>< EFDGG=>7 GE46DL464^4 >E>55 744G65=5 74 

>D74=<74F<\G ?D4>F<G=5 =4EF465 ?4DF=5DE>5 L>>?5, =4G<=>< ^57>65 

D54?<74F<\5 < ??4=<D4=<< <EE>4<<4. �>E5F4 D45D<>4<4 - E>F<\4?=<< 

?4DF=5D<<4 L>>?5 4><4_<=4. 
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�D4_5^5 4=56=<E 4>F<6=>EF< =4EF46=<>4-<5=F>D4, D47<5=4 <=D>D<4F<\4 < 
>546]4=5 >><?4D4F<6=5 4=4?<75. '?>7=464^5 E4 7>4<L^<< < >?5D4F<6=<< 
??4=>< D444 <5=F>D4, ?D4_5^5 ?D4>F<G=5 =4EF465 <7 >5?4EF< ?D5ED4<55=5 
< D4D<4F5GFE>5 F5E=>?>7<\5, F5E=>?>7<\5 F5?G?>75 < <<>D>5<>?>7<\5. 
�D4_5^5 GG5=<>4 =4 G4E>6<<4 F5>D<\5, 6565< < 64==4EF46=<< 
4>F<6=>EF<<4. �><>_ GG5=<F<<4 44 ?D5647<VG \57<G>G 54D<\5DG < D47G<5\G 
7444F>5 >>\< EG E5 >4 ^<E 74EF564?< 74 6D5<5 G4E4.   
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74D46EF65=> 64E?<F4^5 =4EF.\54<=<F4 3 �?5>>, E4 ?D>D5E>D>4<4 

'4GL56>< < %F4=>>6>< 
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�46=< G4E 

' ��%%& \5 >55?565= %65FE>< 44= 6>44.  �D>D5E>D>4 �5=< %F4=>>64 \5 E4 

E6>\<< GG5=<F<<4 <765?4 <<>D>5<>?>L>G >>=FD>?G >64?<F5F4 6<L5 6DEF4 

6>45, G>]GGG\G_< < 6>4G <7 D5>e �4D<F5. %?54<?> \5 >E?<>464^5 <4\<F4.  
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�D47<GE + ?D>\5>4F >'\54<^5=< G 7=4^G< 

�D4>F<G=4 =4EF464 G D45D<F< F5?G?>75 �>=4< ���. �D54464^5 < F5EF > 
557554=>EF< =4 D44G, D<?< >  D45D<F<, >>=FD>?4 >64?<F5F4 G 
=4\E46D5<5=<\<< ?45>D4F>D<\4<4, 74LF<F4 6<6>F=5 ED54<=5 EG =5>5 >4 
F5<4 E4 >>\<<4 EG E5 GG5=<F< G?>7=4?<. 
 

 
 

 

 
 
 
 
 



�4= 6>44 G �D5ED4<55=> - E5<<\E>>\ L>>?<  
 

�>>?>L>4 E5>F<\4 =4L5 L>>?5 >55?56<?4 \5 �4= 6>44 3 22. <4DF G 
E4D44^< E4 �>445<<\>< F5E=<G>>-64E?<F4G><E EFDG>>6=<E EFG4<\4 3 �<L. 

�5E5F GE?5L=<E EFG45=4F4 >65 4>445<<\5, =4L<E 5<6L<E GG5=<>4, 
4DG6<?< EG E5 E4 GG5=<F<<4 4DG7>7 < G5F6DF>7 D47D544 >>\< EG 74\54=<G>< 
GD44<?< 74=<<]<6G 4=>5FG > ?>7=464^G 74LF<F5 6<6>F=5 ED54<=5, G?>7< < 
7=4G4\G 6>44 74 6<6>F=G ED54<=G.  

�D>7 >6> 4DG65^5, >4> < >D4F>> ?D54464^5, >EF64D<?< E<> 
74\54=<G>< F<] 44 G>465<> =4 G<^5=<FG 44 > 74LF<F< 6>44 =4 =4L>\ 
??4=5F< FD554 E64>>4=56=> D47<<L]4F< < <=F5=7<6=> 45?>64F< =4 
^<E>6>< >GG64^G. 
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,5\D5F>6>< 

 

 



�G64^5 < E?55>F5D4?<\4 E4 GG5=<F<<4 >>\< D445 ?> ���G, E4 ?D>D5E>D>4<4 
�<>>?>6><, %D<EF>6>< < �?4F4=>6>< 
 

 

 

 



'4E  G 46>D<LFG L>>?5- �<>?>7<\4 < 74D46EF65=> 64E?<F4^5- �D5F4^5, 
74D46]5, 5D7 G< < ?5?>F4

 

 

 
 



25.<4DF 
�D47<GE + ?D>\5>4F >'\54<^5=< G 7=4^G< 
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�D47<GE + ?D>\5>4F >'\54<^5=< G 7=4^G<  

�5?574F<\4 �D5ED4<55=>-E5<<\E>5 L>>?5 6D4_4 E5 E4 GE?5L=> 

D54?<7>64=>7 �D47<GE + ?D>\5>F4  >'\54<^5=< G 7=4^G<, ?G=< GF<E4>4 < 

=>6<E ?D<\4F5]EF464. 

 

 



 

 
 

 

 



 

 

 

'G5=<> �D5ED4<55=>- E5<<\E>5 L>>?5 G �<LG, �64= �4D46>>6<_, 

>E6>\<> \5 �$'�� <5EF> =4 46445E5F>< $5?G5?<G>>< F4><<G5^G GG5=<>4 

ED54^<E EFDGG=<E L>>?4 G >5?4EF< ?D><76>4^5 < ?D5D445 ED4=5 74 

>5D47>6=< ?D>D<? ����$.  

&4><<G5^5 \5 >4D64=> G �>64D56FG 25.-27.03.2022.7>4<=5. 

 

 

 

 

 

 

 

 



 
 
 
 
 
 
�D5ED4<55=> - E5<<\E>4 L>>?4 G �<LG \5 \54=4 >4 52 EFDGG=5 L>>?5 G 

%D5<\< >>\5 GG5EF6G\G G ?D>\5>FG ,,�>4DL>4 �' ED54^5< EFDGG=>< 
>5D47>64^G G %D5<\<". �4E64]G\G_< ?D>\5>FG ,,�4546>4 >?D5<5 74 ED54^5 
EFDGG=5 L>>?5" >>\< E5 D<=4=E<D4 <7 ED54EF464 �=EFDG<5=F4 ?D5F?D<EGF=5 
?><>_< �'-��� 2012, =4L>\ L>>?< EG 4>=<D4=4 ED54EF64 G 6D54=>EF< >>> 
31 000 56D4 G 6<4G ?45>D4F>D<\E>5 >?D5<5.  
&<] EFDGG=>7 >5D47>64^4 \5 ?D<?47>V464^5 E46D5<5=>< FD6<LFG D444 < 
EF4?=> GE46DL464^5, F4>> 44 >?D5<4, =4G<= D444 < GG5^4 >4> < GE?>6< G 
>>\<<4 E5 >46<\4 >5D47>6=> - 64E?<F=< ?D>F5E <>D4\G ?D4F<F< 56D>?E>5 
>5D47>6=5 EF4=44D45. 
 

 

 

 

 

 

 

 

 

 



�D54EF46=<F< �D5ED4<55=> - E5<<\E>5 L>>?5 <7 �<L4 < GG5E=<F< XX 
D5?G5?<G>>7 F4><<G5^4 GG5=<>4 ED54^<E EFDGG=<E L>>?4 G >5?4EF< 
?D><76>4^5 < ?D5D445 ED4=5 >4D64=>7 >4 25.-27. 3. 2022. G 
�>]>?D<6D54=>\ L>>?< E4 4><>< GG5=<>4 %>^4 �4D<=>>6<_ G �>64D56FG 
EG 5<?<: 

�64= �4D46>>6<_, >5D47>6=< ?D>D<?- ?5>4D; <5=F>D-�565=>4 
�<>>?<_ 

�D<EF<\4= &4E<_, >5D47>6=< ?D>D<?-<5E4D; <5=F>D- %?46<F4 
%F>\<]>>6<_ 

�4F4?<\4 %F4=>>6<_, >5D47>6=< ?D>D<?-?D5ED4<55=< F5E=<G4D; 
<5=F>D- �<?5=4 �474D56<_ 

' >>=>GD5=F<\< 24 L>>?5 �64= �4D46>>6<_ \5 >E6>\<> 4DG7> <5EF>, 
�D<EF<\4= &4E<_ 45E5F> <5EF> < �4F4?<\4 %F4=>>6<_ ?5F=45EF> <5EF>. 
'5EF<F4<>! 

 

 
 

 



�>6<=4DE>4 E5>F<\4 �D5ED4<55=> - E5<<\E>5 L>>?5 =4 �54<\4=4 D5EF<64?G  

�47D4V5= \5 ?<F5D4D=< D44 %4D5 %46<_, 4 ?>E64]5=< D44>6< �<?<F5 

�5]>>6<_ < �5FD5 &65F>>6<_. �>E64?=<F4 \5 GDGG5=4 < <5=F>DG, �4?5=F<=< 

$44>\<G<_, ?D>D5E>D>< ED?E>>7 \57<>4 < >^<656=>EF<. 

�D5ED4<55=> - E5<<\E>4 L>>?4 =4 E4\<G >5D47>64^4 G �, "�64= �>D4= 

�>64G<_". �D>D5E>D< �5?4 �4G=>6<_, �4=<\5?4 �<>>?<_ �5?>>6 < �5\4= 

�<G56E>< EG E5 ?> ?D6< ?GF EGED5?< E4 =4L<< =>6<< GG5=<F<<4. 

 
 

 
 

 



�D5ED4<55=> - E5<<\E>4 L>>?4 =4 E4\<G >5D47>64^4 G �, "�64= �>D4= 

�>64G<_". �D>D5E>D< �5?4 �4G=>6<_, �4=<\5?4 �<>>?<_ �5?>>6 < �5\4= 

�<G56E>< EG E5 ?> ?D6< ?GF EGED5?< E4 =4L<< =>6<< GG5=<F<<4. 
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�4 5< 4D646=4 <4FGD4 5<?4 4>5D> ?D<?D5<]5=4 < >D74=<7>64=4, 4 74 

<4FGD4=F5 >>\< _5 \5 ?>?474F< L>>?E>5 2023/24. 7>4<=5 (E444L^< �� D47D54) 

LF> <4^5 EFD5E=4, 4 LF> GE?5L=<\4, �<=<EF4DEF6> ?D>E65F5, =4G>5 < 

F5E=>?>L>>7 D476>\4 < �D>\5>4F 4D646=5 <4FGD5 >D74=<7G\G >4 5 - 8. 4?D<?4 

2022. 7>4<=5 F76. 4DG7> ?<?>F<D4^5 4D646=5 <4FGD5. 

' >6>\ ?D>5< ?>?474^4 <4FGDE><E <E?<F4 GG5EF6G\G E6< GG5=<F< G5F6DF<E 

D47D544 G %D5<\<, 4 <5VG ^<<4 < =4L< <4FGD4=F<. 

�=< _5 EGFD4 ?>?474F< <E?<F <7 ED?E>>7 \57<>4 < >^<656=>EF<, G ED54G 

<E?<F <7 <4F5<4F<>5 4>> _5 G ?5F4> ?>?474F< EFDGG=>-F5>D<\E>< F5EF.  

�5?<<> <=>7> ED5_5 E6<< GG5E=<F<<4, GG5=<F<<4 < =4EF46=<F<<4. 

 



 

 

�>7<6  =4 ?D54EF46]4^5 D57G?F4F4 �D47<GE ??GE ?D>\5>F4 >'\54<^5=< G 

7=4^G<, >>\5 _5 5<F< >4D64=> G G5F6DF4> 07.04.2022. G 12 E4F<, G 

?D>EF>D<\4<4 �D5ED4<55=> - E5<<\E>5 L>>?5 G �<LG.  

�D54EF46<_5<> D57G?F4F5 ?D>\5>F4 < ?D<<5D5 4>5D5 ?D4>E5 <7 =4L5 

?4DF=5DE>5 L>>?5 �D>D5E<>=4?=5 7<<=47<\5 74 E5<<\E>G < ?D5ED4<55=G 

F5E=>?>7<\G <7 �474D_<>4. 

 

�7 LF4<?5 \5 <74L?> < E?5F<\4?=> <744^5 L>>?E>>7 G4E>?<E4 ?>4 =47<6>< 

"'\54<^5=< G 7=4^G". 

 

 
 

 

 

 

 

 



�D5ED4<55=> - E5<<\E>4 L>>?4 \5 E?46< E6>\ 87. $>V5=44= 

 

 'G5=<F<, =4EF46=<F< < D>4<F5]< EG 74\54=> ?D>E?46<?< 87. D>V5=44= 

=4L5 L>>?5. �4EF46=<G>> 65_5 \5 =47D44<?> =4\5>]5 GG5=<>5, >>\< EG F>>>< 

?D5FE>4=5 7>4<=5 ?>EF<7?< <7G75F=5 D57G?F4F5, 4 =4EF46=<F4 �565=>4 

�<>>?<_ \5 =47D4V5=4 >4> ?>554=<> <=F5D=>7 >>=>GDE4 "�4\5>]< L>>?E>< 

G4E" =4 >E=>6G >4?G>5 >><<E<\5 D>D<<D4=5 >4 EFD4=5 �5447>L>>7 

>>?57<\G<4. 
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?D54EF46<?< E6>\4 <E>GEF64 74 6D5<5 5>D46>4 G =4L>\ ?4DF=5DE>>\ L>>?< 

��%%& (�D>D5E<>=4?=4 7<<=47<\4 74 E5<<\E>G < ?D5ED4<55=G F5E=>?>7<\G), 

�474D_<>, �G74DE>4. 

�6>< ?D<?<>>< \5 ?D><>6<E4=> ?>E55=> <744^5 L>>?E>>7 G4E>?<E4, 

?>E65_5=> D54?<74F<\< ?D>\5>F4 <>5<?=>EF< ?>4 =47<6>< "'\54<^5=< G 

7=4^G". 

 

�D>7 D5FD>E?5>F<6G 4>F<6=>EF<, EG<<D4\G_< <EE>45 ?D>\5>F4, 4<D5>F>D>4 

&4^4 �<><_ �<>>?<_ \5 <EF4>?4 ?>E65_5=>EF E6<E 4>F5D4 �D47<GE + 

<>5<?=>EF<, ]G547=>EF 4><4_<=4 ?4DF=5DE>5 L>>?5 < G<^5=<FG 44 EG 

G?D46> ?>E65_5=>EF, 65LF<=4 < <=F57D<F5F 5<?< >]GG=< F>>>< ?D5FE>4=5 

G5F<D< 7>4<=5, >4 >444 44F<D4 <45\4 >>>D4<=4F>D4 ?D>\5>F4, ?D>D5E>D4 

%?46<L5 �4=<_4. 

"�4L4 �D47<GE + ?D<G4 \5 E<=5D7<\4 ?4DF=5DE><E EFD4=4 "'\54<^5=<E G 

7=4^G" >D>7 D47<5=G =4\5>]<E ?D4>E< 464 >5D47>6=4 E<EF5<4" <EF4>?4 \5 

4<D5>F>D>4 �D5ED4<55=> - E5<<\E>5 L>>?5. 

 

 

 
 

 

 

 

 

 

 



�4= L>>?5 
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�>D<G<_. $44<>=<F4 "'?>7=4\<> $D4=FGE>G - <7D444 ?4DD5<4". 
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' < �?4F=G 
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$57G?F4F< =4L<E GG5=<>4 EG 7455?565=< >>>< $&% >4<5D5. &>>>< <=F5D6\G4 

74 74 $&%, ?D>D5E>D>4 �565=>4 �<>>?<_ \5 ?>764?4 5G4G_5 GG5=<>5 44 

?D<?<>>< <75>D4 ED54^5 L>>?5 5<D4\G E<7GD=G 5G4G_=>EF G7 4G4?=> 

>5D47>64^5 G ?D5D44< ED4=5 < E6>\5 L>>?>64^5 =4EF465 F4<> 745 EF64D4<> 
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�4= >F6>D5=<E 6D4F4 G �D5ED4<55=> - E5<<\E>>\ L>>?< 

 

$>D5=7<G>4 ?45>D4F>D<\4 

 
 

 
 

  



�4= >F6>D5=<E 6D4F4 G �D5ED4<55=> - E5<<\E>>\ L>>?< 

�>>?>L>4 E5>F<\4 < D44 L>>?5 G EF4FGEG <5VG=4D>4=5 �>> 3 L>>?5 

 
  

�D54EF46]4^5 �D47<GE +?D>\5>F4 "'\54<^5=< G 7=4^G"  

 

 



'G5=<F< �D5ED4<55=>-E5<<\E>5 L>>?5 < >4> 6>?>=F5D< &D65=>7 >DEF4 �<L 

?>EF<6G 74?465=5 D57G?F4F5, GG5 74 6<6>F < >EF46]4\G FD47 G 6D5<5=G 44 

=4E G65D5 44 _5 5G4G_=>EF G ^<E>6<< DG>4<4 5<F< E\4\=4.  

�65 7>4<=5 EG =4L5 GG5=<F5 �4F4?<\4 �>64=>6<_, �5FD4 &65F>>6<_, 

&5>4>D4 �5FD>6<_, �<?<F4 �5]>>6<_ < �<^4 %G?F<_ G<=<?5 F4><<G4DE>< 

F<< �D5ED4<55=>-E5<<\E>5 L>>?5 =4 �D44E>>< F4><<G5^G G ?DG64^G ?D65 

?><>_< G >D74=<74F<\< &D65=>7 >DEF4 �<L. &4><<G5^5 \5 >4D64=> G EG5>FG, 

21. <4\4 2022. 7>4<=5, 4 =4L< 4D47G]< < 6>?>=F5D< EG ?>EF<7?< 74?465= 

D57G?F4F < >E6>\<?< &$��� <5EF>. �4E64?=<F4 < ?5E4D EG FG 44 ?>4E5F5 

E444L^5 < 5G4G_5 V4>5 44 >>D4G4^5 ?GF56<<4 ?D46<E 6D54=>EF< \5EF5 

4D47>F5=>EF 4> >>\5 E5 D4EF5! 

�4L<< F4><<G4D>4<4 G5EF<F4<> < E4 ^<<4 45?<<> D44>EF! �4L EG ?>=>E!  

 

 

 

 

 



 

 

�5E4D \5 =4L!   

 

&4><<G5^5 &D65=>7 >DEF4 G ?DG64^G ?D65 ?><>_<.  

 �4F4?<\4 �>64=>6<_, �5FD4 &65F>>6<_, &5>4>D4 �5FD>6<_, �<?<F4 

�5]>>6<_ < �<^4 %G?F<_.  

 

 

 

 

 

 

 

 



 

��%�� � ��,�� ,���� 

 

�D5ED4<55=> - E5<<\E>4 L>>?4 

�>=>E \5 < 4<>4 

�<6L<E < E444L^<E E6>\<E GG5=<>4.  

�4 > ^>\ ?<L5< <<4< \4 E?>5>45, 

�5D 4>5D> 7=4< >4>6< \5 ]G4< 6>45. 

' L>>?< E5 =4L>\ <4D]<6> < 6D54=> GG<, 

�4F> E5 <=>7> V4>4 74 ^G >4?GG<. 

,>>?4 <<4 D47=5 4<6=5 E<5D>65,  

� <>7G 64< D5_< 44 ?D4F< < FD5=4>65. 

�44 <7 ^5 <74VG V4F< 

%4<> ?5?5 GE?><5=5 =>E5, 

�5>7 F>74 E5 >=< L>>?>< < ?>=>E5. 

 

&5>4>D4 (�4D\4=>6<_) &4\<_, 5<6L4 GG5=<F4 �D5ED4<55=> - E5<<\E>5 L>>?5 

�4\?5?L< ?>>?>= >>\< E<> <>7?< 4>5<F<! %64?4 >4 EDF4! 

 

IV 4 ?D5ED4<55=< F5E=<G4D  

 
 

 

 



24. <4\ 

�4=4E \5 �4= E?>65=E>5 ?<E<5=>EF< < >G?FGD5. 

'EF4=>6]5= \5 G G4EF E>?G=E>5 5D4_5 - �<D<?4 < �5F>4<\4, >>\< EG 74E?G6=< 
74 L<D5^5 ?<E<5=>EF< <5VG E?>65=E><< =4D>4<<4. �EF4?< EG G?4<_5=< 
>4> "E?>65=E>< 4?>EF>?<", >>\< EG EF6>D<?< 7?47>]<FG, ?D6> ?<E<> 
%?>65=4. �D56>4>< ?<FGD7<\E><E < 5<5?<\E><E >^<74 ?>EF46<?< EG F5<5]5 
E?>65=E>5 ?<E<5=>EF<.  

 

 

 

 

 

 

 



�'� 

 

�<L5 >4 20 5<7=<E ??4=>64 >>\5 EG >D5<D4?< GG5=<F< <7 =<L><E >E=>6=<E < 
ED54^<E L>>?4 ?D54EF46]5=< EG =4 F4><<G5^G <?44<E ?D54G75F=<>4 G 
�<LG. $5G \5 > 35. <4=<D5EF4F<\< <?44<E <=>64F>D4 G %D5<\<, >>\>< E5 
GG5=<F< <7 E6<E 7D44>64 %D5<\5 ?>4EF<GG 44 5G4G 45> 4G?4=>7 >5D47>64^4 
< \>L G L>>?< D476<\4\G E6>\5 ?>E?>6=5 <45\5. 
�64 <4=<D5EF4F<\4 E5 >D74=<7G\5 65_ ?5F 7>4<=4 G %D5\< < 4> E444 \5 >D>7 
F4><<G5^4 ?D>L?> >>> 6.000 <?44<E. 
�4\5>]< <7 E6<E 7D44>64 _5 5<F< ?>E55=> ?D54EF46\?5=< >D4\5< 7>4<=5, 
>46G G %4657G ?D>=4?474G4 %D5<\5. 
%5>F<\4 74 ?D54G75F=<LF6> �D5ED4<55=>-E5<<\E>5 L>>?5 ?>4 
DG>>6>4EF6>< ?D>D5E>D4 �GL4=4 �DG\<_4 \5 ?D54EF46<?4 E6>\ 5<7=<E ??4=. 
 

 
 

 

 



�E4<45E5F < E54<4 75=5D4F<\4 <4FGD4=4F4 �D5ED4<55=> - E5<<\E>5 L>>?5 

�4?47< \>L \54=4 75=5D4F<\4 <7 �D5ED4<55=> - E5<<\E>5 L>>?5... �EF4\G 74 

^<<4 5575D<6=< 44=< 45F<^EF64 < <?44>EF<, <E?<E4=5 65654=>5 G 

=4EF46=<G><< >D<4D<<4, >F5=5 G 4=56=<>G, 4=574>F5 >>\5 _5 E5 

?D5?D<G464F<...�?<, >4?47< \>L \54=4 75=5D4F<\4 >>\>\ \5 >>D>=4 GE>D4F<?4 

E64>>4=56=> L>>?>64^5, 5575D<6=5 >E<5E5 < 4DG74DE>5 747D]4\5, 

5>E>GD7<\5 =4 >>\<<4 E5 4DG74DEF6> GG6DL_G\5 < F>4\G GE?><5=5 74 G<F46 

6<6>F... 

�DG64<> << ?>4DL>G < 65DG\5<> G ^<E! �<6>F =5 E<5 44 EF4=5, <?44>EF 

>DG< ?GF565, D475<\4 ?D5?D5>5, >?EF4\5 >=> =4\646=<\5...74\54=<LF6>, <45\5, 

>D54F<6=>EF...  

� 7=4<>, >4?475 <7 �D5ED4<55=> - E5<<\E>5 L>>?5, 4?< _5 >=4 74G65> 5<F< 

FG G ^<E>6<< EDF<<4! %D5_=> 64< 5<?>, >G4 7>4 <L?< < LF4 7>4 D44<?<!    

�4G65> 64L4 �D5ED4<55=> - E5<<\E>4 L>>?4 
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�4EF46=<G>> 65_5 \5  =4 ?D54?>7 >><<E<\5 74 <75>D GG5=<>4 75=5D4F<\5, 4 =4 

>E=>6G �D46<?=<>4 > ?>E64]<64^G < =47D4V<64^G,  <745D4?>  GG5=<>4 

75=5D4F<\5: �?<\<_ �?5>E4=4DG, GG5=<FG 4/2, F5E=<G4D 74 <=4GEFD<\E>G 

D4D<4F5GFE>G  F5E=>?>7<\G.  

 

'G5=<> 75=5D4F<\5 3 �?<\<_ �?5>E4=4D4  

 

 



 

 

'G5=<F4 %F4L4 %F4<5=>>6<_, 3-2, >5D47>6=< ?D>D<? F5E=<G4D 74 E5<<\E>G 

< D4D<4F5GFE>G F5E=>?>7<\G, \5 764=<G=< ?D64> %D5<\5 G ??5EG, >4F57>D<\4 

Disco dance. 

 

'5EF<F4<> %F4L< < 45?<<> ^5=G D44>EF!  

 

 
 

 

 

 

 

 



 

 

�4 F4><<G5^G OPEN INTERNATIONAL DANCE FESTIVAL, GG5=<F4 2-2, 

F5E=<G4D 74 E5<<\E>G < D4D<4F5GFE>G F5E=>?>7<\G, �4V4 �>DV56<_ \5 < >6>7 

?GF4 E4 E6>\<< F<<>< >E6>\<?4 1. <5EF>. �D46> �4V4! 

 

 

 

 
 

 

 

 

 

 

 

 



 

�4=4E, 13. \G=4 2022. 7>4<=5, G �5>7D44G, ' &D65=>< >DEFG %D5<\5, 465<4 

=4L<< GG5=<F4<4 EG GDGG5=5 =47D445 74 ?>EF<7=GF GE?5E =4 >6>7>4<L^5< 

FD44<F<>=4?=><  >>=>GDEG "�D6 6<6>F 7=4G<" G ?D<EGEF6G <5=F>D4 

�4?5=F<=5 $44>\<G<_. 

�4L4 &5>4>D4 �5FD>6<_ 4>5<F=<F4 \5 =47D44=>7 45E5F>4=56=>7 ?5F>64^4 

74 >E6>\5=G ?D6G =47D44G,  4>> \5 =4L4 �4=<F4 �<]>>6<_ (1-1) 4>5<?4 

6D54=G =47D44G 74 >E6>\5=> 4DG7> <5EF>. 

� 7?4F> < ED55D> 4>?475 G �<L!  

� �D5ED4<55=>-E5<<\E>4 L>>?4 E5 D44G\5, G5EF<F4 < 65DG\5 G E6>\5 V4>5!  

 

 

 
 



�>45?4 4<??><4 

 

�< E<> 746DL<?< �%, 

 

 
 

 



�< E<> 746DL<?< �%,  

 

 

 
 



���$,�� ���$�$��&���  

   

 

�D>\5>F=< F<< �D5ED4<55=> - E5<<\E>5 L>>?5 <7 �<L4 >D74=<7>64> \5 

�46DL=G >>=D5D5=F<\G �D47<GE + ?D>\5>F4 ?>4 =47<6>< "'\54<^5=< G 

7=4^G". 

' $57<>=4?=>< F5=FDG 74 EFDGG=> GE46DL464^5 74?>E?5=<E G 

>5D47>64^G, 22.6.2022. 7>4<=5 G ?D<EGEF6G 4<D5>F>D4, EFDGG=<E E4D44=<>4 

< ?D>\5>F=<E F<<>64 >E=>6=<E L>>?4 "$44>\5 �><4=>6<_" < "�D4=>> 

$44<G56<_" <7 �45D>6F4 < ED54^<E EFDGG=<E L>>?4 �&, �5<<4D, 

&D7>6<=E>5 L>>?5 < ,>>?5 <>45 < ?5?>F5, ?D54EF46<?< E<> D54?<7>64=5 

>?LF5 < E?5F<D<G=5 F<]565 74\54=<G>>7 ?D>\5>F4 E4 �D>D5E<>=4?=>< 

7<<=47<\>< 74 E5<<\E>5 < ?D5ED4<55=5 F5E=>?>7<\5 <7 7D444 �474D_<>4 G 

�G74DE>>\.  

�<D5>F>D>4 L>>?5 &4^4 �<><_ �<>>?<_ < >>>D4<=4F>D ?D>\5>F4 

%?46<L4 �4=<_ ?D54EF46<?< EG 74<=F5D5E>64=>\ ?D>E65F=>\ \46=>EF< E65 

>?LF5 < E?5F<D<G=5 F<]565 D54?<7>64=5 F>>>< <>5<?=>EF<. 

�5E=4 $<EF<_, >D74=<74F>D ?D4>F<G=5 =4EF465 G �D5ED4<55=> - 

E5<<\E>>\ L>>?< ?D54EF46<?4 \5 ?D4>F<G=G =4EF46G G >><?4=<\4<4 �<>65F, 

�% %<<F, �>=4< < �4=5?<. 

�4D4 �<D<_, =4EF46=<> EFDGG=<E ?D54<5F4 G �D5ED4<55=> - E5<<\E>>\ 

L>>?< \5 7>6>D<?4 > ?>E5_5=<< E4D44=<G><< G4E>6<<4 ?4DF=5DE>5 ��%%& 

L>>?5. 

�5447>7 �D5ED4<55=> - E5<<\E>5 L>>?5 �>D44=4 �<><_ \5 

?>E5F<>F<<4 ?D54EF46<?4 >>=F5?F E4D44=<G>5 =4EF465 >D>7 

<G?F<4<EF<??<=4D=< ?D<EFG? >>\< E5 >4 2015. 7>4<=5 D54?<7G\5 G 

�D5ED4<55=> - E5<<\E>>\ L>>?<. 

'>]GG5^5 4<D5>F>D4  =4L5 ?4DF=5DE>5 L>>?5 ��%%&  &>4>D4 

�4<5>64, >D74=<74F>D4 ?D4>F<G=5 =4EF465 �5?< %F4<5>?<\565 < 

?D>D5E>D>5 5=7?5E>>7 \57<>4 �?<7465F5 �?4=E>5 \5 4>G5>4=> 4??4G7>< 

?D<EGF=<E ?>E5F<>F4 \5D \5 =4\46]5=4 G74\4<=4 ?>E5F4 7D44G �<LG < 

�D5ED4<55=> - E5<<\E>>\ L>>?<. 

�4?D46]5=4 \5 D5FD>E?5>F<64 74\54=<G><E 4>F<6=>EF< >4 2018. 7>4<=5 >4 

>444 44F<D4 E4D44^4 465 ?4DF=5DE>5 L>>?5, ?>4E5F<?< E<> E5 4>74V4\4 E4 

46>=545]=5 <>5<?=>EF< F>>>< <4DF4 < >>=EF4F>64?< 44 =4EF46]4<> 

E4D44^G >D>7 D47<5=G ?D>D5E<>=4?=<E <E>GEF464. 

�D>\5>4F "'\54<^5=< G 7=4^G" ?D54EF46<> \5 E<=5D7<\G 465 

?4DF=5DE>5 L>>?5 >>\4 >E<< LF> >5GE64F4 6<E>>5 ?D>D5E<>=4?=5 

EF4=44D45 >6<E >5D47>6=<E GEF4=>64, 4>5<\4 < ?>E554= ?5G4F >D>7 ?<G=4 

?D<\4F5]EF64 GG5E=<>4 <>5<?=>EF<.  

 

 

 

 



�46DL=4 >>=D5D5=F<\4 

 

 

 



�46DL=4 >>=D5D5=F<\4 

 
 

 
 



�4D>4=> ?>7>D<LF5 �<L < >�?4F4D4 %F4=<<<D>6<_< =47D44<?< EG 

V4>5 75=5D4F<\4 E6<E ED54^<E L>>?4 <7 �<L4. �4\5>]< GG5=<F< =47D4V5=< 

EG ?D>?GE=<F4<4 74 ?D54EF465 >>\5 E5 <7D4\G G �4D>4=>< ?>7>D<LFG, >4> < 

5D<?<\4=F><. 

�4L V4> 75=5D4F<\5 �?5>E4=4D4 �?<\<_, 4-2, >5D47>6=< ?D>D<? 

F5E=<G4D 74 <=4GEFD<\E>G < D4D<4F5GFE>G F5E=>?>7<\G, ?D<EGEF6>64?4 \5 

4>45?< =47D444 E4 >45]5^E><< EF4D5L<=>< �5\4=>< �<G56E><< < F>< 

?D<?<>>< 4>44?4 44 \5 <<4?4 4<6=G ?D<?<>G 44 746DL< �D5ED4<55=> - 

E5<<\E>G L>>?G < 44 \>\ \5 4D47> LF> �D44 ^5=> 4=746>64^5 =47D4VG\5. 

�>4E5_4<> 44 \5 �?5>E4=4D4 �?<\<_ 6<F5L4<?<>= %D5<\5 <7 2019. 7>4<=5 74 

>5?4EF >?LF4 < =5>D74=E>4 E5<<\4 E4 E6>\<< <5=F>D>< �5E=>< �>6<_, 

?D>D5E>D>>< E5<<\5 G �D5ED4<55=> - E5<<\E>>\ L>>?<.  

'5EF<F4<> �?5>E=4D<! �64 =47D444 \5 ?>>474F5] ^5=>7 4>E444L^57 D444, 

4?< < <>F<64F<\4 74 44]< GE?5E. 

 
 



�4 �<4>644=E>>\ 4>445<<\<, >4D64=>\ 28. \G=4 G ?>DF< %45>D=5 FD>65, 
E65G4=> EG GDGG5=5 ?>E64?=<F5 < ?>>?>=< GG5=<F<<4 75=5D4F<\5 =<L><E 
D4>G?F5F4, ED54^<E < >E=>6=<E L>>?4. 
 'G5=<F4 75=5D4F<\5 �D5ED4<55=> - E5<<\E>5 L>>?5 <7 �<L4 \5 �?5>E4=4D4 
�?<\<_, 6<L5EFDG>> =47D4V<64=4 =4 F4><<G5^<<4. 
  ' L>>?E>>\ 2018/2019. 7>4<=< �?5>E4=4D4 \5 74\54=> E4 E6>\>< 
<5=F>D>< �5E=>< �>6<_ >E6>\<?4 4DG7> <5EF> =4 4D646=>< F4><<G5^G <7 
>?LF5 < =5>D74=E>5 E5<<\5.  

 �?5>E4=4D4, G5EF<F4<> F< =4 4>E444L^<< 65?<><< GE?5E<<4 =4 
4D646=<< F4><<G5^<<4. 'G<=<?4 E< ?>=>E=<< E6>\5 D>4<F5]5 < 
=4EF46=<>5. �>EF>\=> E< ?D54EF46]4?4 <<5 E6>\5 L>>?5.  
 
�5?<<> F< ?G=> GE?5E4 G 44]5< L>>?>64^G! 
 
 

 
 
 

 



�4L< <4FGD4=F< 

 

'G5=<F< >45]5^4 IV-1, >5D47>6=< ?D>D<? %5<<\E>< ?45>D4=F E4 

D47D54=<< EF4D5L<=>< �4E<<=>>< &65F>>6<_... 

 
 

'G5=<F< >45]5^4 IV-2, >5D47>6=< ?D>D<? &5E=<G4D 74 <=4GEFD<\E>G 

D4D<4F5GFE>G F5E=>?>7<\G, E4 D47D54=<< EF4D5L<=4<4 �5\4=>< �<G56E><<. 

 



'G5=<F< >45]5^4 IV-3, >5D47>6=< ?D>D<? &5E=<G4D 74 74LF<FG 

6<6>F=5 ED54<=5 E4 D47D54=<< EF4D5L<=>< �?444=>< �<D<_... 

 
 

'G5=<F< >45]5^4 IV-4, >5D47>6=< ?D>D<? �D5ED4<55=< F5E=<G4D, E4 

D47D54=<< EF4D5L<=>< �4F4L>< �>F<_... 

 



 �'� 

�4=4E E<> <<4?< 65?<>G G4EF < 744>6>]EF6> 44 EG =4< G 7>EF<<4 E6< 

74?>E?5=< ?4DF=5DE>5 L>>?5 ��%%& (�D>D5E<>=4?=4 7<<=47<\4 74 E5<<\E>G 

< ?D5ED4<55=5 F5E=>?>7<\5) <7 7D444 �474D_<>4, $5?G5?<>4 �G74DE>4. 

�4DF=5DEF6> =4L5 465 L>>?5 44F<D4 <7 2018. 7>4<=5 4 >65 7>4<=5 E<> 

GE?5L=> 746DL<?< =4L ?D6< 74\54=<G>< ?D>\5>4F "'\54<^5=< G 7=4^G". 

 

 
 



�>E5FG =4L5 ?4DF=5DE>5 L>>?5 ��%%& �D>D5E<>=4?=5 7<<=47<\5 74 

E5<<\E>5 < ?D5ED4<55=5 F5E=>?>7<\5 =4EF46<?< E<> >5<?4E>>< %?><5= 

?4D>4 '574D < �<L>5 54^5. 
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' >>6<DG ?D<?D5<=5 ?>E5F5 74 D54?<74F<\G �D47<GE + ?D>\5>F4 

"�>5<?=>EF - =>64 7=4^4, =>64 <E>GEF64", ?D54EF46=<F< �D5ED4<55=> - 

E5<<\E>5 L>>?5, 4<D5>F>D>4 &4^4 �<><_ �<>>?<_ < %F>\4= �<=<_, 

>>>D4<=4F>D <>5<?=>EF< GG5=<>4, EG G7>6>D<?< E<5LF4\ 74 GG5=<>5 < 

=4EF46=<>5, >445D4?< E4D44=<>5 < ?>>4F<\5 74 <76>V5^5 E6<E 4>F<6=>EF< 

?D546<V5=<E ?D>\5>F>< <>5<?=>EF< GG5=<>4 < =4EF46=<>4 E5<<\5 < EGED5?< 

EG E5 E4 ?D54EF46=<F<<4 =4L<E ?4DF=5D4 <7 ,?4=<\5.  

�4DF=5D =4 ?D>\5>FG �D5ED4<55=> - E5<<\E>5 L>>?5 G >>F>5DG >65 

7>4<=5 5<_5 EUROMIND >4=F5?4D<\4 G %56<]<.   

�4E64]G\5<> E5 ]G547=<< 4><4_<=<<4 Jacub Euromind, Beata 

Euromind < Inma IDevelop  E4 >>\<<4 E<> ?>EF46<?< F5<5]5 GE?5L=5 

D54?<74F<\5 �D47<GE +?D>\5>F4. 

 



 

�5D47>6=< ?D>D<?< =4L5 L>>?5  

    

 



 

 
 

 



 

��$������ �$�$��: �$�%$������ &�%��'�$ 

 

�>E4> ?D5ED4<55=>7 F5E=<G4D4 \5 44 >>=FD>?<L5 >64?<F5F E<D>6<=4 < 

D<=4?=<E ?D><76>44 G F5E=>?>L><< ?45>D4F>D<\4<4 (<E?<F<64^5 

<<>D>5<>?>L><E, 5<>E5<<\E><E, E5<<\E><E >E>5<=4 < 4D.). 

�447?544 F5E=>?>L>5 ?D>F5E5 G<L_5^4, ?D4^4, ]GLF5^4, 

>>=75D6<D4^4, D5D<5=F<D4^4, 45EF<?<E4^4, ?4EF5D<7>64^4 ED4=5. 

�D74=<7G\5 ?D<\5<, GG64^5 < ?4>>64^5 ?D5ED4<55=<E E<D>6<=4, >4> < D44 

?D><76>4=<E ?<=<\4 G ?D5D44< =4<<D=<F4 (<?5>4, 6>_4, ?>6D_4, 5D4L=4, 

L5_5D4, >>=4<F>D4�). $44< G 74F6>D5=>< ?D>EF>DG. 

�4EF464> L>>?>64^4 =4 6<E>><< EFDG>>6=<< L>>?4<4 < 

D4>G?F5F<<4. 
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&�%�������' 

 

 

�4LF> F5E=<G4D 74 E5<<\E>G < D4D<4F5GFE>G F5E=>?>7<\G? 

�<=4<<G=4 =4EF464, >4?<G=4 >?LF4 < EFDGG=4 ?D4>F<G=> 

?D<<5^<64 7=4^4. %F5G5=<< 7=4^5< ?4>> 4> ?>E?4 <?< G?<E4 =4 

D4>G?F5F! 
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�4LF> F5E=<G4D 74 74LF<FG 6<6>F=5 ED54<=5? 

 

�5?<< EFDGG=<< 7=4^5< < ?<G=<< 4=746>64^5< 44 4>?D<=5E5< 

>GG64^G 6<6>F=5 ED54<=5; ?>7<F<64= 5>>-4GE G L>>?< < EFDGG=> 

>5D47>64^5 << F> ><>7G_G\G. 

�>7G =4EF46<F< L>>?>64^5 =4 D4>G?F5F<<4 < 6<L<< L>>?4<4. 
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�4 D44=>< <5EFG G7>D>G\5, ?D<?D5<4 < <76>4< ?45>D4F>D<\E>5 4=4?<75, 

?>LFG\5 EF4=44D45 >64?<F5F4 < 6DL< >>=FD>?G ?D>F5E4. �D<?D5<4 

>4?>G?4F<\5 < <765LF4\5 > ?D><76>4^< <  D476<\4 ?D46<?4= >4=>E ?D5<4 

E4D44=<F<<4, EFD4=>4<4 < >>>?<=<. 

%5<<\E>< ?45>D4=F< E5 74?>L]464\G G =4GG=>-<EFD46<64G>>\ 

45?4F=>EF<, G ?45>D4F>D<ja<4  E5<<\E>5, D4D<4F5GFE>5 < ?D5ED4<55=5 

<=4GEFD<\5. ,>>?>64^5 =4 >6>< >5D47>6=>< ?D>D<?G \5 >4?<G=4 >E=>64 74 

G?<E =4 D4>G?F5F ?D<D>4=<E =4G>4, &5E=>?>L>< D4>G?F5F, �>]>?D<6D54=< 

D4>G?F5F < 4DG75. 
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�>5D> 4>L?< =4 764=<G<=G ?D575=F4F<\G =4L5 L>>?5 =4 ?>DF4?G 

www.izaberisrednju.rs. �4 ?D575=F4F<\< E5 =4?475 <=D>D<4F<\5 > 

E<5D>6<<4, 5D>\G GG5=<>4 >>\< E5 =4 E<5D G?<EG\G >4> < <>7G_=>EF< >>\5 

E<5D ?DG64. 

�D5ED4<55=> - E5<<\E>4 L>>?4! 

�D46> G F5=F4D!     

 

 

 

 
 

 

 

 

 


